sin(Pcosx)=cos(Psinx)

sin(Pcosx)-cos(Psinx)=0

sin(Pcosx)-sin(P/2-Psinx)=0
2*cos((Pcosx+P/2-Psinx)/2)*sin((Pcosx-P/2+Psinx)/2)=0

cos((Pcosx+P/2-Psinx)/2)=0

(Pcosx+P/2-Psinx)/2=p/2+pk
(cosx+72-sinx)/2=1/2+k
2cosx+1-2sinx=2+4k
2cosx-2sinx=1+4k
cosx-sinx=(1+4k)/2
sinx-cosx=-(1+4k)/2
V2(cosa*sinx-cosx*sina)=-(1+4k)/2
sina=1/V2

cosa=1/V2

a=P/4

V2(sin(x-a))=-(1+4k)/2
sin(x-P/4)=(-(1+4k)/2V2
-1<=(-(1+4k)/2V2<=1
-2V2<=-1-4k<=2V2
-2V2+1<=-4k<=2V2+1
V2/2-Ya>=k>=-V2/2-1/4

k=0

sin(x-P/4)=-1/2V2
x-p/4=arcsin(-1/2V2)+2pn
x-p/4=p-arcsin(-1/2V2)+2pn
x1=acsin(-1/2V2)+2pn+p/4
x2=3p/4-arcsin(-1/2V2)+2pn

—

59*59=(60-1)"2=3600 - 120 + 1=3481

25"2=625
5572=3025 56 25
75"2=5625

sin((Pcosx-P/2+Psinx)/2)=0
(Pcosx-P/2+Psinx)/2=pk | * 2/p
cosx-Yz+2sinx=2k |*2
2cosx-1+2sinx=4k
2cosx+2sinx=4k+1 |/2
sinx+cosx=2k+"2
V2(cosa*sinx+sina*cosx)=2k+%
sina=1/V2

cosa=1/V2

a=P/4
V2(sin(x+P/4))=2k+"2 |/V2
sin(x+P/4)=(2k+2)/V2
-1<=(2k+2)/V2<=1
-V2<=2k+7/>2<=V2
-V2-/2<=2k<=V2-72
(-V2-12)[2<=k<=(V2-72)/2
k=0
x+p/4=arcsin(1/2V2)+2pn
x+p/4=p-arcsin(1/2V2)+2pn
x1=arcsin(1/2V2)-p/4+2pn
x2=3pl/4-arcsin(1/2V2)+2pn




